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Technical Mathematics/P2

NOTE:

Grade 10 - Marking Guidelines

NW/June 2024

e If the learner answered the question TWICE, mark the FIRST attempt ONLY.
e If the learner crossed out an attempt of a question and did not REDO, the

question, mark the crossed out question.

e Consistent Accuracy (CA) applies in all aspects of memorandum

QUESTION 1
11
1.1.1 p
v =
a
(@) sin _P '
r
€))
b
(b) cotaa =——— v i1+tana
ana
p
Lo !
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p Answer only, full
q marks
P
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1.1.2 {ans5- :E .
: v’ correct ratio
an 55 — Z v" substitution
q
gtan55 =7 v’ correct rounding
. T ®3)
tan55° Penalize for incorrect
| = 4,901452767 rounding.
=5
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1.2
cos[gj.sin p
2
° v" Substituti
= cos[ﬁ}sin 32° bSO
2
= 0,48
v" Answer
)
1.3
131 |sinfd=04
0 =sin*(0,4)
.0 =23,58° v’ 23,58°
()
132 | tan260=119
_ tand v tan™
20 =tan~(1,19)
260 = 49,95845092 v Dividing by 2
0 = 24,98°
v" Answer
@)
133 | cos(@—-20°) =0,67 v 0—-20° =47,9329352°
6-20° =cos™(0,67
( ) v simplifying
0-20° =47,9329352°
0 =47,9329352° + 20 v Answer
0 =67,93 (3)
[15]
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QUESTION 2

.ny

A(5:12)

r

A J

v

2.1

rF=x"+y... Pythagoras
r*=(5)"+(@12)°

v SIR

v'Substitution

=25+144
v" Answer
=169
r=13 3)
2.2 . 12
sing = E v" Answer
€]
2.3 cos@ xsecd v’ v'Substitution
5 13
= — X —
13 5
=1 v" Answer
(3)
2.4 12 v' Correct ratio
tan @ = E
19 v’ Substitution
LO=tant =
5 v" Answer
0 =67,38°
Learners may
also use sin & cos
ratio, credit
them.
3)
[10]
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QUESTION 3
A ' E
30° 0
D
_l
B 20 C
3.1.1 In AABC
20 v’ Correct ratio
sin30° = —
AC
20 v Answer
sin 30°
AC = 40 units (2)
3.1.2 A 40
cosCAD = 50 v’ Correct ratio
CAD = cos? 4—Oj
60 v" Answer
A... CAD = 48,19 ] (2)
313 | DAE =90° —30° —48,19° v Calculating DAE
=1181"
tan11.81° = DE v Correct ratio
’ 60
DE = 60tan11,81°  Answer
DE =12,55 units (3)
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3.2
321 | FE=3m v" Answer (1)
3.2.2 A CE
tan CFE = TE v'Correct ratio
tanl(Ej v" Substitution
3
v
— 21,80140140949° Answer
=218
3)
323 | No, CFE > 21° v Answer
v" Justification
2
[13]
QUESTION 4
411 a=2 v a=2 (1)
412 | 360° v Answer (1)
OR . v’ end points
yel[0:2] v Notation
OR
vV
ye[0°;2]
2
4.1.4 h(x) = cos x V'V Answer )
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42.1 v’ the first 4
values
45° | 90 135°| 180°| 2257 270° 315°| 360°
X v’ the
f(x) 1 undefin| -1 |0 1 und [-1 |O remaining
ed efin values
ed
)
422 14 . ; v Shape
E y=tanx i
é i v" Asymptotes
E i v Intercepts
1 L : i
: | v" Any correct
: | ' point
f i } f T f f >
o 45° 9 ﬂf/{m" 225° 270° 315°.360°
1 ! | [ °
i ; i /
(4)
[12]
TOTAL: 50
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